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Note:

1. This question paper contains eight questions. Attempt total five

questions including question No.1 which is compulsory.

2. Each question carries equal marks. Marks are divided and indicated
against each part of the question.

3. Write legibly. Each part of the question must be answered in
sequence in the same continuation.

4. If questions are attempted in excess of the prescribed humber only
questions attempted first up to the prescribed number shall be
valued and the remaining answers will be ignored.

EqTT & :

1. S8 Y 9 H 3116 U § | TReT §&AT 1 (S 3ifard &) &gt dher urer 9eait & 3eck
foarf@u|

2. Ucdh 9 & AT 3eh g | 3T I T oh Tcdeh AT & [aeg Ao 3R 3T
frar T g

3. TS FT Y o 92T & Ucdeh AT 1 3T hH H A T 3cal ST ST IA1g U

4. Ife geat o AuTRT T&ar @ 3118 Far 1 91w fhar Srar &, ar shao e

HEIT deh UGl TohT aTT IR&AT 1 FHediehe! ThaT SITTAT 3N AT Sccll sl Ao 37ETS!
[CRIRCIE)
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(d)

(a)

(b)

Answer the following questions in brief:- (05x04=20)
Aot w1 &1 ST 999 # Sfor-

How do environmental externalities associated with
international trade undermine gains from trade to a country?

FALTST ATIE | TG ATAry o 1 et 397 3 o ST o A7 0
10T T TAT 82

Explain primary, revenue and fiscal deficits. Does fiscal deficit
caused by high deficit on revenue account and a major hike in
capital expenditure have same impact on an economy?

T, TS UF TR =TS /T GHATT| FT e GTd § Fg7 =12y UF
ST =2 § Ageaqul gfg ¥ ST B9 aTeAT TSI JTeT srfeqaea T 1%

AT TATT STAAT 872

Explain the shape of Phillips curve under the assumption of
New Classical rational expectations.

T srderEiT fEaswsfier seamerm &t wr=adaT & siaerq oo a9 & e i1
STEAT FIord|

“Despite the dismantling of Planning Commission,
decentralized planning has continued in India.” Do you agree?

TISAT AT T AT FA o ATaS[@ AT | (ehlexd AT w19 81" FT
AT TEHT 872
“The Indifference Curve analysis arrives at the same
conclusion that was earlier reached by Marshallian utility
analysis however with less restrictive assumptions.” Explain.
(12)
"TEEAAT A (AU AT FoFy 9 ag=ar g o 9% ager "nete 7 SuAIReEr
fraroror ag=T o7 fheq 9 YA gTede areaarat & qre" ST Ao |

Using indifference curve analysis explain how a consumer
attains equilibrium when (i) In a two commodity model
marginal rate of substitution is 2 throughout on the
indifference curve and prices of the two commodities are equal
(i) The consumer has the income to purchase two goods ice
cream and chocolates, and he doesn’t like to consume them
together. (04x02=08)

TeEAAT T @YU FT AN Fd gC Fa10 & Fg THE TH ITHH
ATHITAET H Tg9dT § 9 (i) TH &I el & T § AT TIaemae & X
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X TEEIAT a IT 2 % TET 31 qAT AT a&qaAl =l hiad A ol e (i)
STHTTHT o TTH T TECA ATSEIH T Alohole GG hl AT gF AT AT A1
FEGAT T Teh AT ITHNT A HAT ATZaT 27|

"Realized investment is always equal to realized saving, but
planned investment is equal to planned saving only at the
point of equilibrium.” Discuss. Diagrammatically show what
policy intervention would you suggest to raise the equilibrium
level of output and income in a typical Keynesian framework?
(14+06=20)
"HETied Rerer FaT FRied a9d & 9YET giav g foheq WATora Ao Fae
e fdg o R a=9q % aEe grar 81" =AredT w2 = & agrEar
TEfTT L AT AT T QIS FIATEIT G997 H T TF IcATad &L Hl T@™

F forw a7 e geeerT w3

“Inflation is always and everywhere a monetary phenomenon.”
Evaluate the validity of the statement in Indian context. Do
you feel that the present Indian inflation can be controlled
through monetary interventions alone? Give arguments in
support of your view. (124+08=20)

"HRTERITT T ST g T 9% U HITgeh qedAT gl" AT & a3 d =0 FI9
T TLAT FT TG FiL| FAT AT UAT AT & 1o TAqHT AT HETERITT &l
FaeT Hitaeh gead & e oA ST ahar g2 9= 3¢ & 9949 § T &l

Establish how globalization has promoted trans-nationalization
of capitalist liberal market economy. Is it correct to say that
‘Multi National Corporations’ that has got a boost in the phase
of globalisation are necessary evils for a transition economy
like India? (08+12=20)

AT hitord Teh Fohe TahTE S 0T 7 SETLATal YSiiaTal aTsTe SAaedT &l

TR FRT 81 T I8 FgaT Al & 1o g T Ha1 S, qHS 160
T ITcHTeA AT 8§ AT S8 Snuvreiier srieqaed st # o U sraedsh

TS 87

“Poverty is a major cause and effect of global environmental
problems. It is therefore futile to attempt to deal with
environmental problems without a broader perspective that
encompasses the factors underlying world poverty and
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international inequality.” (Brundtland Commission) Discuss.
How far the statement given in 1987 relating to the nexus
between poverty, development and environment still relevant?

(14+06=20)

"REFar St T TRl FREAT T UF THE H0 gl oFq: Hehaar
UF SAAUTET AEATEAT 6 qHawd § TF Feqa qrdel i 9410 o T agiawo

THET TR T GAATT HT Fl d 78 [T grm” (A FHHie)
Ui F¥1 1987 H Teiwar, o i waiaxor F sraavadl & gxa-g # a7
AT AL FAF T HHAT T ST A7 AwTedE 22

Explain using suitable tools how market fails to provide public
goods and handle externality? How can this situation be
remedied? Do you think that intervention by state can prove to
be an effective alternative from this perspective?
(12+05+03=20)

ITTH ATEAT T TART F2d g0 Taieha i & T arsme qrastias
FEQAT Il ITAY FIA A Argarat wf [FIH=a T § s@wa @ar gl =9
A Fa @ T ST aFar 22 AT AT A= & S ww g zw g q
T TIT e U agax fawew g g awar g2

Explain different non-tariff barriers that have emerged as
important tool of protectionism. Do you think the benefits of
reduction in tariff barriers is impeded significantly by the
prevalence of Non-Tariff Measures that encumbers the intra-
regional trade and investment flows. (14+06=20)

AT AT Te[oa ATETAT 6T =T hl o1 ST HLEA 6 TG qLh 6 ®F H AL &
TTHA 3T 3| FAT 3T JIAA g 1o T i ATl § FHHT 6 ATHAI Bl Sqei= 1T
TR Ua a9 garg &t 97T FI are(l 4T T80T arere o d9gd g aF
Frfera =T g2
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